Bid Tabulation for Blueprint Linden - Oakland Park / Medina

Ouden	Def					Total Unit		Fields.	
Order	Ref.		5		l,	Total Unit		Fields	_
No.	No.	Item No.	Description	Est. Qty's	Units	Price	Total	Excavating	Danbert
CC-1764	16 Rluer	orint Linde	n Oakland Park/ Medina Green Infrastructure CIP NO. 650870-						
100702	to Black	ornic Emac	in Oakland I and medina Oreen initiastructure on 140. 000070-						
100702	1	201	CLEARING & GRUBBING	1	LS	\$20,000.00	\$20,000.00	\$500.00	\$6,826.00
2	2	201	TREE REMOVED	41	EA	\$150.00	\$6,150.00	\$20,500.00	\$11,152.00
3	3		PIPE REMOVED	448	LF	\$15.00	\$6,720.00	\$2,240.00	\$5,376.00
4	4		CURB REMOVED	725	LF	\$15.00	\$10,875.00	\$1,450.00	\$10,875.00
5	5		PERIMETER FILTER FABRIC FENCE (SILT FENCE)	3978	LF LF	\$3.00	\$10,875.00	\$3,978.00	\$7,956.00
6	6	254	PAVEMENT PLANING, ASPHALT CONCRETE		SY	\$3.00 \$15.00			
°	0	254	PAVEIVIENT PLANING, ASPHALT CONCRETE	2006	े ।	\$15.00	\$30,090.00	\$13,039.00	\$8,224.60
7	7	250	DDIVEWAY DAVEMENT DEDI ACEMENT TYPE III D (ASDUALT)	1	CY	\$600.00	¢600.00	¢4 250 00	¢4 420 00
7	7	259	DRIVEWAY PAVEMENT REPLACEMENT, TYPE III B (ASPHALT)	1	CY	\$600.00	\$600.00	\$1,250.00	\$1,138.00
1 , 1	0	050	DRIVEWAY PAVEMENT REPLACEMENT, TYPE III B	40	0)/	¢c00 00	#0.000.00	¢c 400 00	¢45 500 00
8	8	259	(CONCRETE)	16	CY	\$600.00	\$9,600.00	\$6,400.00	\$15,520.00
	0	050	DDIVENAN DAVEMENT DEDI A CEMENT TVDE III O (ODAVEL)		0)/	# 000 00	#4 000 00	# 000 00	#4 070 00
9	9		DRIVEWAY PAVEMENT REPLACEMENT, TYPE III C (GRAVEL)	4	CY	\$300.00	\$1,200.00	\$200.00	\$1,076.00
10	10	407	NON-TRACKING TACK COAT	301	GAL	\$9.50	\$2,859.50	\$1,806.00	\$1,580.25
1 1			ASPHALT CONCRETE INTERMEDIATE COURSE, TYPE 1, (448)		O) /	0.400.00	* 400 00	4007.70	*
11	11	441	PG64-22M	1	CY	\$400.00	\$400.00	\$637.50	\$133.62
			ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (448) PG64-			A 400 00			
12	12	441	22M	84	CY	\$400.00	\$33,600.00	\$24,780.00	\$22,008.00
13	13		HEADWALL	6	CY	\$600.00	\$3,600.00	\$6,000.00	\$12,252.00
14	14	604	STANDARD MANHOLE, TYPE "C" (AA-S102)	8	EA	\$4,000.00	\$32,000.00	\$35,200.00	\$41,992.00
			STANDARD MANHOLE, TYPE "C" (AA-S102) WITH GRATED						
15	15		COVER	1	EA	\$4,000.00	\$4,000.00	\$2,800.00	\$3,866.00
16	16		CURB INLET	10	EA	\$3,000.00	\$30,000.00	\$29,000.00	\$30,180.00
17	17		STANDARD CATCH BASIN (AA-S133A)	8	EA	\$3,500.00	\$28,000.00	\$14,000.00	\$16,128.00
18	18		8" PIPE UNDERDRAIN, SOLID WALL	255	LF	\$40.00	\$10,200.00	\$7,650.00	\$23,205.00
19	19	605	12" PIPE UNDERDRAIN, SOLID WALL	892	LF	\$60.00	\$53,520.00	\$44,600.00	\$56,196.00
20	20	608	CONCRETE WALK (4')	2040	SF	\$20.00	\$40,800.00	\$16,320.00	\$28,560.00
21	21		CURB RAMP, TYPE C	1	EA	\$500.00	\$500.00	\$1,500.00	\$569.00
22	22		CURB RAMP, TYPE D	3	EA	\$500.00	\$1,500.00	\$4,500.00	\$1,707.00
23	23		DETECTABLE WARNING TYPE "E"	32	SF	\$450.00	\$14,400.00	\$800.00	\$1,088.00
24	24		CURB, STRAIGHT 18"	381	LF	\$30.00	\$11,430.00	\$19,050.00	\$18,288.00
25	25		MAINTAINING TRAFFIC	1	LS	\$75,000.00	\$75,000.00	\$100,000.00	\$155,126.00
26	26		TEMPORARY PAVEMENT	3	SY	\$200.00	\$600.00		\$171.00
27	27		CONSTRUCTION LAYOUT STAKES	1	LS	\$15,000.00	\$15,000.00	\$35,750.00	\$78,204.00
28	28	_	MOBILIZATION	1	LS	\$30,000.00	\$30,000.00	\$39,000.00	\$11,000.00
29	29		SIGN REPLACEMENT	3	EA	\$300.00	\$900.00	\$1,440.00	\$1,281.00
30	30	653	TOPSOIL FURNISHED AND PLACED	3576	CY	\$50.00	\$178,800.00	\$125,160.00	\$225,288.00
31	31	659	SEEDING AND MULCHING	450	SY	\$10.00	\$4,500.00	\$1,800.00	\$769.50
32	32	660	SODDING UNSTAKED	1,597	SY	\$20.00	\$31,940.00	\$15,970.00	\$13,175.25
33	33	661	TREE OR SHRUB REPLACEMENT, MATCH EXISTING SPECIES	41	EA	\$500.00	\$20,500.00	\$31,775.00	\$19,844.00
34	34	805	3/4 INCH WATER SERVICE LINE TRANSFER	31	EA	\$2,000.00	\$62,000.00	\$49,600.00	\$76,756.00
35	35	805*	CURB BOX	31	EA	\$250.00	\$7,750.00	\$3,720.00	\$7,254.00
36	36	808	RELOCATE 8 INCH WATER MAIN	70	LF	\$200.00	\$14,000.00	\$23,100.00	\$25,970.00
37	37	808	6 INCH WATER MAIN LOWERING	2	EA	\$4,400.00	\$8,800.00	\$8,000.00	\$13,280.00
38	38	808	8 INCH WATER MAIN LOWERING	2	EA	\$5,000.00	\$10,000.00	\$10,000.00	\$13,476.00
		1	i			 	+	-	·

Bid Tabulation for Blueprint Linden - Oakland Park / Medina

Order	Ref.					Total Unit		Fields	
No.	No.	Item No.	Description	Est. Qty's	Units	Price	Total	Excavating	Danbert
39	39	815	CRUSHED STONE OR GRAVEL	10	CY	\$50.00	\$500.00	\$450.00	\$800.00
			12" PIPE, TYPE I BEDDING, WITH ITEM 911 COMPACTED						
40	40	901	BACKFILL	14	LF	\$90.00	\$1,260.00	\$1,540.00	\$2,282.00
			12" PIPE, TYPE I BEDDING, WITH ITEM 912 COMPACTED						
41	41	901	GRANULAR BACKFILL	2,819	LF	\$120.00	\$338,280.00	\$324,185.00	\$307,271.00
42	42		6" CLEANOUT	43	EA	\$1,000.00	\$43,000.00	\$12,900.00	\$15,351.00
43	43	SPEC	ROOF DRAIN CONNECTION	13	EA	\$500.00	\$6,500.00	\$2,405.00	\$3,900.00
		0050	30 MIL PVC OR 40 MIL HDPE IMPERMEABLE MEMBRANE		0.7		A 04 4 7 0 00	*** * * * * * * * * *	* 40 - 20 40
44	44		LINER TYPE D	5,364	SY	\$4.00	\$21,456.00	\$37,548.00	\$40,766.40
45	45		SEDIMENT AND EROSION CONTROLS	1 1	LS	\$25,000.00	\$25,000.00	\$5,000.00	\$15,154.00
46	46		SURVEY COORDINATES	1 1	LS	\$10,000.00	\$10,000.00	\$6,000.00	\$885.00
47	47		PROJECT IDENTIFICATION SIGNS	1 7	LS	\$1,600.00	\$1,600.00	\$5,000.00	\$3,868.00
48	48		ELECTRIC LINE RELOCATION ELECTRIC POLE RELOCATION	5	EA EA	\$5,000.00	\$25,000.00	\$40,000.00	\$54,160.00
49 50	49 50		BIO-BASIN PROTECTION FENCING	3,050	LF	\$5,000.00 \$6.00	\$15,000.00 \$18,300.00	\$7,500.00 \$3,050.00	\$18,087.00 \$8,540.00
51	51	SPEC	12" C900 SANITARY GRADE SEWER PIPE	99	LF	\$120.00	\$10,300.00	\$12,375.00	\$11,187.00
52	52		SIDEWALK WITH INTEGRATED RETAINING WALL	40	LF	\$200.00	\$8,000.00	\$4,000.00	\$9,560.00
53	53		REBOUNDABLE PYLONS	28	EA	\$150.00	\$4,200.00	\$13,580.00	\$12,264.00
54	54		BUMPOUT CURB	544	LF	\$200.00	\$108,800.00	\$35,360.00	\$60,384.00
55	55		BUMPOUT WALLS	526	SF	\$30.00	\$15,780.00	\$34,190.00	\$59,964.00
56	56		SILVA CELL	45	CY	\$300.00	\$13,500.00	\$20,250.00	\$21,150.00
57	57	SPEC	TEMPORARY SEEDING AND MULCHING	450	SY	\$3.00	\$1,350.00	\$2,700.00	\$769.50
58	58		CURB INLET REMOVED	13	EA	\$1,000.00	\$13,000.00	\$5,200.00	\$5,759.00
59	59		DOGHOUSE MANHOLE	12	EA	\$4,500.00	\$54,000.00	\$72,000.00	\$145,572.00
60	60		GI OUTLET STRUCTURE	41	EA	\$1,000.00	\$41,000.00	\$94,300.00	\$105,001.00
61	61		BIORETENTION MULCH	16,634	CF	\$10.00	\$166,340.00	\$33,268.68	\$27,613.00
62	62		BIORETENTION SOIL	30,931	CF	\$10.00	\$309,310.00	\$92,791.65	\$83,512.49
63	63		EXCAVATION FOR GREEN INFRASTRUCTURE FACILITIES	2,843	CY	\$20.00	\$56,860.00	\$71,075.00	\$113,720.00
64	64	SS-1610	GREEN INFRASTRUTURE AGGREATE, TYPE 57	339	CY	\$100.00	\$33,900.00	\$16,950.00	\$22,713.00
65	65	SS-1610	GREEN INFRASTRUTURE AGGREATE, TYPE 8	169	CY	\$100.00	\$16,900.00	\$8,450.00	\$10,309.00
66	66	SS-1610	GREEN INFRASTRUTURE AGGREATE, TYPE 304	88	CY	\$100.00	\$8,800.00	\$4,400.00	\$17,072.00
67	67	SPEC	BIO BASIN INLET	500	SF	\$50.00	\$25,000.00	\$20,000.00	\$20,000.00
			GREEN INFRASTRUTURE PERIOD OF ESTABLISHMENT						
68	68		SEASON 2	1	LS	\$20,000.00	\$20,000.00	\$75,000.00	\$59,455.00
69	69		8" PIPE UNDERDRAIN FOR GREEN INFRASTRUCTURE	1,584	LF	\$50.00	\$79,200.00	\$63,360.00	\$34,848.00
70	70		CURB INLET REHABILITATION	8	EA	\$5,000.00	\$40,000.00	\$32,000.00	\$21,336.00
71	71		LANDSCAPING WALL	1,688	LF	\$200.00	\$337,600.00	\$168,800.00	\$222,816.00
72	72		PERMANENT PAVEMENT	170	CY	\$400.00	\$68,000.00	\$47,600.00	\$52,530.00
73	73		HEAT WELDING	368	SY	\$15.00	\$5,520.00	\$29,440.00	\$22,080.00
74	74		LIGHT POLE REPLACED	1	EA	\$5,000.00	\$5,000.00	\$9,500.00	\$13,124.00
75	75		GRASSES - SHADE - CP	19	EA	\$30.00	\$570.00	\$475.00	\$437.00
76	76		GRASSES - SHADE - CV	170	EA	\$30.00	\$5,100.00	\$4,250.00	\$3,910.00
77	77		GRASSES - SUN - PH	281	EA	\$30.00	\$8,430.00	\$8,992.00	\$7,868.00
78	78		GRASSES - SUN - PV	127	EA	\$30.00	\$3,810.00	\$4,064.00	\$3,556.00
79	79		GRASSES - SUN - ST	194	EA	\$30.00	\$5,820.00	\$6,208.00	\$5,432.00
80	80		PERENNIALS - SUN - AB	121	EA	\$30.00	\$3,630.00	\$2,783.00	\$2,420.00
81	81	SPEC	PERENNIALS - SUN - AU	145	EA	\$30.00	\$4,350.00	\$4,060.00	\$3,625.00

CONCRETE BLOCKING CLASS C, INCREASE OR DECREASE

D.I. FITTINGS, INCREASE OR DECREASE

119

119

120

801*

801*

650870-100702 Bid Tabulation for Blueprint Linden - Oakland Park / Medina

						Engineer's	Estimate		
Order	Ref.					Total Unit		Fields	
No.	No.	Item No.	Description	Est. Qty's	Units	Price	Total	Excavating	Danbert
82	82	SPEC	PERENNIALS - SUN - ED	150	EA	\$30.00	\$4,500.00	\$4,200.00	\$3,750.00
83	83	SPEC	PERENNIALS - SUN - EK	202	EΑ	\$30.00	\$6,060.00	\$5,656.00	\$5,050.00
84	84	SPEC	PERENNIALS - SUN - EP	210	EA	\$30.00	\$6,300.00	\$5,880.00	\$5,250.00
85	85	SPEC	PERENNIALS - SUN - EW	145	EΑ	\$30.00	\$4,350.00	\$4,060.00	\$3,625.00
86	86	SPEC	PERENNIALS - SUN - IR	128	EΑ	\$30.00	\$3,840.00	\$2,432.00	\$2,176.00
87	87	SPEC	PERENNIALS - SUN - PP	27	EΑ	\$30.00	\$810.00	\$621.00	\$540.00
88	88	SPEC	PERENNIALS - SUN - PS	39	EΑ	\$30.00	\$1,170.00	\$897.00	\$780.00
89	89	SPEC	PERENNIALS - SUN - PT	142	EA	\$30.00	\$4,260.00	\$3,266.00	\$2,840.00
90	90	SPEC	PERENNIALS - SUN - RS	194	EΑ	\$30.00	\$5,820.00	\$4,850.00	\$4,462.00
91	91	SPEC	PERENNIALS - SUN - SE	85	EA	\$30.00	\$2,550.00	\$1,955.00	\$1,700.00
92	92	SPEC	PERENNIALS - SUN - SN	121	EA	\$30.00	\$3,630.00	\$3,025.00	\$2,783.00
93	93	SPEC	SHRUBS - SUN - HF	72	EA	\$100.00	\$7,200.00	\$4,680.00	\$4,248.00
94	94	SPEC	SHRUBS - SUN - AM	46	EA	\$100.00	\$4,600.00	\$2,990.00	\$2,714.00
95	95	SPEC	SHRUBS - SUN - CA	88	EΑ	\$100.00	\$8,800.00	\$5,720.00	\$5,192.00
96	96	SPEC	SHRUBS - SUN - CK	44	ΕA	\$100.00	\$4,400.00	\$3,300.00	\$2,992.00
97	97	SPEC	SHRUBS - SUN - IJ	19	ΕA	\$100.00	\$1,900.00	\$1,235.00	\$1,121.00
98	98		SHRUBS - SUN - IL	41	ΕA	\$100.00	\$4,100.00	\$2,665.00	\$2,419.00
99	99		SHRUBS - SUN - IW	75	EA	\$100.00	\$7,500.00	\$4,875.00	\$4,425.00
100	100		SHRUBS - SUN - RG	13	EA	\$100.00	\$1,300.00	\$936.00	\$845.00
101	101		SHRUBS - SUN - VN	36	EA	\$100.00	\$3,600.00	\$2,592.00	\$2,340.00
102	102		SHRUBS - EVERGREEN - JV	28	EA	\$100.00	\$2,800.00	\$1,960.00	\$1,792.00
103	103		EDGING, STEEL	692	LF	\$30.00	\$20,760.00	\$8,650.00	\$7,612.00
104	104	SPEC	TREES - AR	4	EA	\$750.00	\$3,000.00	\$2,480.00	\$2,252.00
		0. =0	CONTINGENCY - Special - Force Account (.10 x Sum of Items 1			ψ. σσ.σσ	ψο,σσσ.σσ	ψ=, :σσ:σσ	Ψ=,===:σσ
105	105	CONT	through 93)	1	LS	\$291,856.45	\$291,856.45	\$222,559.08	\$268,945.06
			aoog.i oo,			DOSD	\$3,210,420.95	\$2,448,149.91	\$2,958,395.67
			en Oakland Park/ Medina Water Line CIP NO. 690236-100117	4		Φ4 000 00	#4 000 00	£4 000 00	Ф20.4.00
106	106		MAHNOLE REMOVED	1	EA	\$1,000.00	\$1,000.00	\$1,000.00	\$884.00
107	107	254	PAVEMENT PLANING, ASPHALT CONCRETE	5665	SY	\$10.00	\$56,650.00	\$36,822.50	\$23,226.50
108	108	259	DRIVEWAY PAVEMENT REPLACEMENT, TYPE III B (CONCRETE)	2	CY	\$600.00	\$1,200.00	\$1,800.00	\$1,940.00
109	109		DRIVEWAY PAVEMENT REPLACEMENT, TYPE III C (GRAVEL)	1	CY	\$300.00	\$300.00	\$50.00	\$269.00
110	110	407	NON-TRACKING TACK COAT	850	GAL	\$9.50	\$8,075.00	\$4,887.50	\$4,462.50
111	111	441	ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (448) PG64- 22M	236	CY	\$400.00	\$94,400.00	\$69,620.00	\$61,832.00
112	112	608	CONCRETE WALK (4')	896	SF	\$20.00	\$17,920.00	\$7,168.00	\$12,544.00
113	113	615	TEMPORARY PAVEMENT	3	SY	\$200.00	\$600.00	\$300.00	\$171.00
114	114		MOBILIZATION	1	LS	\$30,000.00	\$30,000.00	\$18,000.00	\$4,200.00
115	115		SIGN REPLACEMENT	1	EA	\$300.00	\$300.00	\$480.00	\$427.00
116	116		SEEDING AND MULCHING	639	SY	\$10.00	\$6,390.00	\$4,473.00	\$1,092.69
117	117		6 INCH WATER PIPE AND FITTINGS	493	LF	\$100.00	\$49,300.00	\$55,216.00	\$63,597.00
118	118		8 INCH WATER PIPE AND FITTINGS	2814	LF	\$120.00	\$337,680.00	\$337,680.00	\$363,006.00
						Ţ:=5:50	+==:,===:	+==:,===:	+==3,000.00

20

185

CY

LBS

\$200.00

\$50.00

\$4,000.00

\$9,250.00

\$3,000.00

\$925.00

\$4,120.00

\$906.50

	- ·					T ()) '(F1 11	
Order	Ref.	l				Total Unit		Fields	
No.	No.	Item No.	Description	Est. Qty's	Units	Price	Total	Excavating	Danbert
121	121	802	6 INCH VALVE AND APPURTENANCES	13	EA	\$800.00	\$10,400.00	\$18,200.00	\$22,061.00
122	122	802	8 INCH VALVE AND APPURTENANCES	5	EA	\$1,000.00	\$5,000.00	\$9,000.00	\$10,335.00
			3/4 INCH WATER TAP AND WATER SERVICE LINE						
123	123	805	TRANSFERS, SHORT	51	EA	\$1,250.00	\$63,750.00	\$61,200.00	\$62,577.00
			3/4 INCH WATER TAP AND WATER SERVICE LINE						
124	124	805	TRANSFERS, LONG	54	EA	\$1,400.00	\$75,600.00	\$70,200.00	\$100,224.00
125	125	805*	CURB BOX	108	EΑ	\$200.00	\$21,600.00	\$12,960.00	\$25,272.00
126	126	805*	C.I. FERRULE VALVE BOX AND COVER	4	EA	\$300.00	\$1,200.00	\$400.00	\$1,044.00
127	127	808	8 INCH WATER MAIN ABANDONED	2	EA	\$500.00	\$1,000.00	\$5,000.00	\$8,250.00
128	128	808	1.5 INCH WATER MAIN ABANDONED	1	EA	\$300.00	\$300.00	\$1,000.00	\$1,126.00
129	129	809	FIRE HYDRANT	10	EΑ	\$4,000.00	\$40,000.00	\$26,000.00	\$22,030.00
130	130	810*	6 INCH HYDRANT EXTENSION	2	EA	\$250.00	\$500.00	\$750.00	\$990.00
131	131	810*	12 INCH HYDRANT EXTENSION	2	EΑ	\$300.00	\$600.00	\$850.00	\$1,088.00
132	132	810*	18 INCH HYDRANT EXTENSION	2	EA	\$350.00	\$700.00	\$900.00	\$1,130.00
133	133	810*	24 INCH HYDRANT EXTENSION	2	EΑ	\$400.00	\$800.00	\$1,000.00	\$1,208.00
134	134	811*	INCREASE OR DECREASE IN EXCAVATION AND BACKFILL	57	CY	\$40.00	\$2,280.00	\$1,995.00	\$3,192.00
135	135	SPEC	SURVEY COORDINATES	1	LS	\$5,000.00	\$5,000.00	\$4,000.00	\$2,832.00
136	136	SPEC	TEMPORARY SEEDING AND MULCHING	639	SY	\$3.00	\$1,917.00	\$1,917.00	\$1,092.69
			3/4 INCH WATER HOT TAP AND WATER SERVICE LINE						
137	137	SPEC	TRANSFERS, SHORT	3	EA	\$2,000.00	\$6,000.00	\$4,800.00	\$6,180.00
138	138	SPEC	HEAT WELD	4	SY	\$30.00	\$120.00	\$1,000.00	\$240.00
139	139	SPEC	PERMANENT PAVEMENT	245	CY	\$400.00	\$98,000.00	\$66,150.00	\$75,705.00
140	140	SPEC	VIDEO INSPECTION OF SEWERS	700	LF	\$5.00	\$3,500.00	\$1,400.00	\$2,380.00
			CONTINGENCY - Special - Force Account (.10 x Sum of Items 95						
141	141	CONT	through 129)	1	LS	\$95,533.20	\$95,533.20	\$83,014.40	\$89,163.49
			,						
						DOW	\$1,050,865.20	\$913,158.40	\$980,798.37
				1		2011	Ţ 1,000,000iZ0	Ψο το, τουιπο	\$000,100.01
						Total	\$4,261,286.15	\$3,361,308.31	\$3,939,194.04

Bid Tabulation for Blueprint Linden - Oakland Park / Medina

Order	Ref.					Total Unit			
No.	No.	Item No.	Description	Est. Qty's	Units	Price	Total	Facemyer	Trucco
CC-1764	46 Bluep	orint Linde	n Oakland Park/ Medina Green Infrastructure CIP NO. 650870-						
100702									
1	1		CLEARING & GRUBBING	1	LS	\$20,000.00	\$20,000.00	\$11,611.94	\$4,500.00
2	2	201	TREE REMOVED	41	EA	\$150.00	\$6,150.00	\$11,902.30	\$12,300.00
3	3		PIPE REMOVED	448	LF	\$15.00	\$6,720.00	\$6,491.52	\$21,056.00
4	4		CURB REMOVED	725	LF	\$15.00	\$10,875.00	\$12,165.50	\$10,875.00
5	5	1	PERIMETER FILTER FABRIC FENCE (SILT FENCE)	3978	LF	\$3.00	\$11,934.00	\$8,512.92	\$21,879.00
6	6	254	PAVEMENT PLANING, ASPHALT CONCRETE	2006	SY	\$15.00	\$30,090.00	\$11,715.04	\$10,030.00
7	7	259	DRIVEWAY PAVEMENT REPLACEMENT, TYPE III B (ASPHALT)	1	CY	\$600.00	\$600.00	\$1,161.20	\$765.00
			DRIVEWAY PAVEMENT REPLACEMENT, TYPE III B						
8	8	259	(CONCRETE)	16	CY	\$600.00	\$9,600.00	\$11,147.52	\$12,400.00
9	9	259	DRIVEWAY PAVEMENT REPLACEMENT, TYPE III C (GRAVEL)	4	CY	\$300.00	\$1,200.00	\$388.60	\$1,100.00
10	10		NON-TRACKING TACK COAT	301	GAL	\$9.50	\$2,859.50	\$1,559.18	\$1,384.60
			ASPHALT CONCRETE INTERMEDIATE COURSE, TYPE 1, (448)						
11	11	441	PG64-22M	1	CY	\$400.00	\$400.00	\$592.21	\$219.30
			ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (448) PG64-						
12	12	441	22M	84	CY	\$400.00	\$33,600.00	\$22,896.72	\$36,120.00
13	13		HEADWALL	6	CY	\$600.00	\$3,600.00	\$8,582.76	\$7,200.00
14	14	604	STANDARD MANHOLE, TYPE "C" (AA-S102)	8	EA	\$4,000.00	\$32,000.00	\$45,393.12	\$24,000.00
			STANDARD MANHOLE, TYPE "C" (AA-S102) WITH GRATED						
15	15		COVER	1	EA	\$4,000.00	\$4,000.00	\$4,344.75	\$3,000.00
16	16		CURB INLET	10	EA	\$3,000.00	\$30,000.00	\$37,788.40	\$34,000.00
17	17	604	STANDARD CATCH BASIN (AA-S133A)	8	EA	\$3,500.00	\$28,000.00	\$24,718.32	\$13,600.00
18	18		8" PIPE UNDERDRAIN, SOLID WALL	255	LF	\$40.00	\$10,200.00	\$8,639.40	\$17,085.00
19	19	605	12" PIPE UNDERDRAIN, SOLID WALL	892	LF SF	\$60.00	\$53,520.00	\$30,559.92	\$37,910.00
20	20 21	608 608	CONCRETE WALK (4')	2040	EA	\$20.00 \$500.00	\$40,800.00 \$500.00	\$27,254.40	\$22,440.00 \$750.00
21 22	22		CURB RAMP, TYPE C CURB RAMP, TYPE D	3	EA	\$500.00	\$1,500.00	\$762.17 \$2,286.54	\$2,250.00
23	23	608	DETECTABLE WARNING TYPE "E"	32	SF	\$450.00	\$14,400.00	\$1,114.88	\$1,440.00
24	24		CURB, STRAIGHT 18"	381	LF	\$30.00	\$11,430.00	\$19,850.10	\$26,670.00
25	25		MAINTAINING TRAFFIC	1	LS	\$75,000.00	\$75,000.00	\$60,000.00	\$40,000.00
26	26		TEMPORARY PAVEMENT	3	SY	\$200.00		. ,	\$750.00
27	27		CONSTRUCTION LAYOUT STAKES	1	LS	\$15,000.00	\$15,000.00	\$55,000.00	\$86,000.00
28	28	1	MOBILIZATION	1	LS	\$30,000.00	\$30,000.00	\$100,000.00	\$100,000.00
29	29		SIGN REPLACEMENT	3	ΕA	\$300.00	\$900.00	\$1,741.80	\$1,125.00
30	30		TOPSOIL FURNISHED AND PLACED	3576	CY	\$50.00	\$178,800.00	\$145,793.52	\$232,440.00
31	31	659	SEEDING AND MULCHING	450	SY	\$10.00	\$4,500.00	\$1,575.00	\$1,575.00
32	32	660	SODDING UNSTAKED	1,597	SY	\$20.00	\$31,940.00	\$23,316.20	\$11,578.25
						_	_		
33	33	661	TREE OR SHRUB REPLACEMENT, MATCH EXISTING SPECIES	41	EA	\$500.00	\$20,500.00	\$19,475.00	\$17,425.00
34	34	805	3/4 INCH WATER SERVICE LINE TRANSFER	31	EA	\$2,000.00	\$62,000.00	\$32,418.87	\$110,825.00
35	35		CURB BOX	31	EA	\$250.00	\$7,750.00	\$2,325.00	\$8,370.00
36	36		RELOCATE 8 INCH WATER MAIN	70	LF	\$200.00	\$14,000.00	\$31,787.00	\$33,950.00
37	37 38		6 INCH WATER MAIN LOWERING 8 INCH WATER MAIN LOWERING	2	EA EA	\$4,400.00	\$8,800.00 \$10,000.00	\$19,040.86	\$20,600.00
38	30	808	O INCIT WATER WAIN LOWERING		EA	\$5,000.00	φ10,000.00	\$21,038.62	\$25,000.00

					r -	Liigiileei s			
Order	Ref.					Total Unit			
No.	No.	Item No.	Description	Est. Qty's	Units	Price	Total	Facemyer	Trucco
39	39	815	CRUSHED STONE OR GRAVEL	10	CY	\$50.00	\$500.00	\$525.10	\$820.00
			12" PIPE, TYPE I BEDDING, WITH ITEM 911 COMPACTED						
40	40	901	BACKFILL	14	LF	\$90.00	\$1,260.00	\$834.68	\$910.00
			12" PIPE, TYPE I BEDDING, WITH ITEM 912 COMPACTED						
41	41	901	GRANULAR BACKFILL	2,819	LF	\$120.00	\$338,280.00	\$342,677.64	\$239,615.00
42	42	915	6" CLEANOUT	43	EA	\$1,000.00	\$43,000.00	\$20,851.13	\$11,825.00
43	43	SPEC	ROOF DRAIN CONNECTION	13	EA	\$500.00	\$6,500.00	\$3,822.78	\$4,875.00
			30 MIL PVC OR 40 MIL HDPE IMPERMEABLE MEMBRANE						
44	44	SPEC	LINER TYPE D	5,364	SY	\$4.00	\$21,456.00	\$37,655.28	\$123,372.00
45	45	SPEC	SEDIMENT AND EROSION CONTROLS	1	LS	\$25,000.00	\$25,000.00	\$8,942.56	\$30,000.00
46	46	SPEC	SURVEY COORDINATES	1	LS	\$10,000.00	\$10,000.00	\$6,967.16	\$10,000.00
47	47	SPEC	PROJECT IDENTIFICATION SIGNS	1	LS	\$1,600.00	\$1,600.00	\$3,948.06	\$3,400.00
48	48		ELECTRIC LINE RELOCATION	5	EA	\$5,000.00	\$25,000.00	\$55,277.70	\$47,605.00
49	49		ELECTRIC POLE RELOCATION	3	EA	\$5,000.00	\$15,000.00	\$18,459.54	\$15,897.00
50	50		BIO-BASIN PROTECTION FENCING	3,050	LF	\$6.00	\$18,300.00	\$9,821.00	\$25,925.00
51	51		12" C900 SANITARY GRADE SEWER PIPE	99	LF	\$120.00	\$11,880.00	\$10,054.44	\$11,880.00
52	52		SIDEWALK WITH INTEGRATED RETAINING WALL	40	LF	\$200.00	\$8,000.00	\$10,828.80	\$9,000.00
53	53		REBOUNDABLE PYLONS	28	EA	\$150.00	\$4,200.00	\$12,517.68	\$10,780.00
54	54		BUMPOUT CURB	544	LF	\$200.00	\$108,800.00	\$49,906.56	\$42,432.00
55	55		BUMPOUT WALLS	526	SF	\$30.00	\$15,780.00	\$51,306.04	\$44,710.00
56	56		SILVA CELL	45	CY	\$300.00	\$13,500.00	\$15,749.10	\$21,375.00
57	57		TEMPORARY SEEDING AND MULCHING	450	SY	\$3.00	\$1,350.00	\$630.00	\$900.00
58	58		CURB INLET REMOVED	13	EA	\$1,000.00	\$13,000.00	\$7,329.66	\$10,400.00
59	59		DOGHOUSE MANHOLE	12	EA	\$4,500.00	\$54,000.00	\$91,264.44	\$74,400.00
60	60		GI OUTLET STRUCTURE	41	EA	\$1,000.00	\$41,000.00	\$90,717.42	\$90,200.00
61	61		BIORETENTION MULCH	16,634	CF	\$10.00	\$166,340.00	\$33,268.68	\$24,119.79
62	62		BIORETENTION SOIL	30,931	CF	\$10.00	\$309,310.00	\$94,956.79	\$123,722.20
63	63		EXCAVATION FOR GREEN INFRASTRUCTURE FACILITIES	2,843	CY	\$20.00	\$56,860.00	\$62,773.44	\$76,761.00
64	64		GREEN INFRASTRUTURE AGGREATE, TYPE 57	339	CY	\$100.00	\$33,900.00	\$19,539.96	\$25,425.00
65	65		GREEN INFRASTRUTURE AGGREATE, TYPE 8	169	CY	\$100.00	\$16,900.00	\$9,237.54	\$19,435.00
66	66		GREEN INFRASTRUTURE AGGREATE, TYPE 304	88	CY	\$100.00	\$8,800.00	\$5,182.32	\$16,280.00
67	67		BIO BASIN INLET	500	SF	\$50.00	\$25,000.00	\$12,670.00	\$35,000.00
			GREEN INFRASTRUTURE PERIOD OF ESTABLISHMENT						
68	68		SEASON 2	1 1	LS	\$20,000.00		\$24,000.00	\$52,260.00
69	69		8" PIPE UNDERDRAIN FOR GREEN INFRASTRUCTURE	1,584	LF	\$50.00	\$79,200.00	\$27,514.08	\$17,820.00
70	70		CURB INLET REHABILITATION	8	EA	\$5,000.00		\$49,274.96	\$12,800.00
71	71		LANDSCAPING WALL	1,688	LF	\$200.00	\$337,600.00	\$219,440.00	\$211,000.00
72	72		PERMANENT PAVEMENT	170	CY	\$400.00	\$68,000.00	\$110,530.60	\$119,850.00
73	73		HEAT WELDING	368	SY	\$15.00	\$5,520.00	\$23,073.60	\$33,120.00
74	74		LIGHT POLE REPLACED	1 10	EA	\$5,000.00		\$13,395.54	\$11,536.00
75 70	75 70		GRASSES - SHADE - CP	19	EΑ	\$30.00	\$570.00	\$817.00	\$380.00
76 77	76		GRASSES - SHADE - CV	170	EΑ	\$30.00	\$5,100.00	\$7,310.00	\$3,400.00
77	77		GRASSES - SUN - PH	281	EΑ	\$30.00	\$8,430.00	\$9,835.00	\$7,025.00
78	78		GRASSES - SUN - PV	127	EΑ	\$30.00	\$3,810.00	\$4,445.00	\$3,175.00
79	79		GRASSES - SUN - ST	194	EA	\$30.00	\$5,820.00	\$6,790.00	\$4,850.00
80	80		PERENNIALS - SUN - AB	121	EΑ	\$30.00	\$3,630.00	\$4,235.00	\$2,178.00
81	81	SPEC	PERENNIALS - SUN - AU	145	EA	\$30.00	\$4,350.00	\$5,075.00	\$3,190.00

Ena	incor's	Ectimata
Ena	meers	s Estimate

Order	Ref.	M NI -		E-1 Ot-1-	11-24-	Total Unit	T. (.)	_	_
No.	No.	Item No.	Description	Est. Qty's	Units	Price	Total	Facemyer	Trucco
82	82		PERENNIALS - SUN - ED	150	EA	\$30.00			
83	83		PERENNIALS - SUN - EK	202	EA	\$30.00	\$6,060.00		
84	84		PERENNIALS - SUN - EP	210	EA	\$30.00	\$6,300.00	\$8,400.00	\$4,620.00
85	85		PERENNIALS - SUN - EW	145	EA	\$30.00	\$4,350.00	\$5,800.00	\$3,190.00
86	86		PERENNIALS - SUN - IR	128	EA	\$30.00	\$3,840.00	\$4,480.00	\$1,920.00
87	87		PERENNIALS - SUN - PP	27	EA	\$30.00	\$810.00		
88	88		PERENNIALS - SUN - PS	39	EA	\$30.00	\$1,170.00		
89	89		PERENNIALS - SUN - PT	142	EA	\$30.00	\$4,260.00	\$5,680.00	\$2,556.00
90	90		PERENNIALS - SUN - RS	194	EA	\$30.00	\$5,820.00		\$3,880.00
91	91		PERENNIALS - SUN - SE	85	EA	\$30.00	\$2,550.00		\$1,530.00
92	92		PERENNIALS - SUN - SN	121	EA	\$30.00	\$3,630.00		
93	93		SHRUBS - SUN - HF	72	EA	\$100.00	\$7,200.00		
94	94		SHRUBS - SUN - AM	46	EA	\$100.00			\$2,392.00
95	95		SHRUBS - SUN - CA	88	EA	\$100.00	\$8,800.00		\$4,576.00
96	96		SHRUBS - SUN - CK	44	EA	\$100.00	\$4,400.00		\$2,640.00
97	97		SHRUBS - SUN - IJ	19	EA	\$100.00		. ,	\$988.00
98	98		SHRUBS - SUN - IL	41	EA	\$100.00	\$4,100.00		\$2,132.00
99	99		SHRUBS - SUN - IW	75	EA	\$100.00	\$7,500.00		\$3,900.00
100	100		SHRUBS - SUN - RG	13	EA	\$100.00	\$1,300.00		\$741.00
101	101		SHRUBS - SUN - VN	36	EA	\$100.00	\$3,600.00		\$2,052.00
102	102		SHRUBS - EVERGREEN - JV	28	EA	\$100.00			\$1,568.00
103	103		EDGING, STEEL	692	LF	\$30.00	\$20,760.00		
104	104		TREES - AR	4	EA	\$750.00	\$3,000.00	\$2,600.00	\$1,980.00
			CONTINGENCY - Special - Force Account (.10 x Sum of Items 1						
105	105	CONT	through 93)	1	LS	\$291,856.45	\$291,856.45		
						DOSD	\$3,210,420.95	\$2,763,472.67	\$2,979,835.25
CC-1746	646 Blue	nrint Linde	en Oakland Park/ Medina Water Line CIP NO. 690236-100117						
106	106		MAHNOLE REMOVED	1	EA	\$1,000.00	\$1,000.00	\$3,219.07	\$850.00
107	107		PAVEMENT PLANING, ASPHALT CONCRETE	5665	SY	\$10.00	. ,		•
107	107	204	DRIVEWAY PAVEMENT REPLACEMENT, TYPE III B	0000	- 01	φ10.00	ψου,οου.ου	φου,σου.σο	Ψ20,020.00
108	108	259	(CONCRETE)	2	CY	\$600.00	\$1,200.00	\$1,393.44	\$1,530.00
100	100	200	(CONCILIE)			Ψ000.00	ψ1,200.00	Ψ1,000.44	Ψ1,000.00
109	109	259	DRIVEWAY PAVEMENT REPLACEMENT, TYPE III C (GRAVEL)	1	CY	\$300.00	\$300.00	\$57.03	\$275.00
110	110		NON-TRACKING TACK COAT	850	GAL	\$9.50	\$8,075.00		
110	110		ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (448) PG64-	000	OAL	ψ3.00	ψ0,070.00	ψ+,+00.00	ψο,ο το.οο
111	111		22M	236	CY	\$400.00	\$94,400.00	\$68,109.60	\$101,480.00
112	112		CONCRETE WALK (4')	896	SF	\$20.00	\$17,920.00		\$15,232.00
113	113		TEMPORARY PAVEMENT	3	SY	\$200.00			\$525.00
114	114		MOBILIZATION	1	LS	\$30,000.00	\$30,000.00		
115	115		SIGN REPLACEMENT	1	EA	\$30,000.00	\$300.00		
116	116		SEEDING AND MULCHING	639	SY	\$10.00			
117	117		6 INCH WATER PIPE AND FITTINGS	493	LF				\$2,236.50
117	117		8 INCH WATER PIPE AND FITTINGS	2814	LF	\$100.00 \$120.00			
110	110	0U I	O INOLL WATER FIFE AND FITHINGS	2014	ᄕ	ֆ1∠∪.∪∪	\$337,680.00	\$390,104.82	\$478,380.00
119	119	801*	CONCRETE BLOCKING CLASS C, INCREASE OR DECREASE	20	CY	\$200.00	\$4,000.00	\$2,000.00	\$7,160.00
120	120		D.I. FITTINGS, INCREASE OR DECREASE	185	LBS	\$50.00	\$9,250.00		
120	120	0U I	D.I. FIT HINGS, INCREASE OR DECREASE	100	LDO	φου.υσφ	φ9,∠50.00	φ1,110.00	φ1,295.00

Order	Ref.					Total Unit			
No.	No.	Item No.	Description	Est. Qty's	Units	Price	Total	Facemyer	Trucco
121	121	802	6 INCH VALVE AND APPURTENANCES	13	EA	\$800.00	\$10,400.00	\$20,618.78	\$16,250.00
122	122	802	8 INCH VALVE AND APPURTENANCES	5	EA	\$1,000.00	\$5,000.00	\$12,063.40	\$9,000.00
			3/4 INCH WATER TAP AND WATER SERVICE LINE						
123	123	805	TRANSFERS, SHORT	51	EA	\$1,250.00	\$63,750.00	\$92,160.57	\$124,950.00
			3/4 INCH WATER TAP AND WATER SERVICE LINE						
124	124	805	TRANSFERS, LONG	54	EA	\$1,400.00	\$75,600.00	\$107,765.10	\$178,200.00
125	125	805*	CURB BOX	108	EA	\$200.00	\$21,600.00	\$8,100.00	\$29,160.00
126	126		C.I. FERRULE VALVE BOX AND COVER	4	EA	\$300.00			\$840.00
127	127		8 INCH WATER MAIN ABANDONED	2	EA	\$500.00	\$1,000.00		\$9,600.00
128	128	808	1.5 INCH WATER MAIN ABANDONED	1	EA	\$300.00	\$300.00		\$1,000.00
129	129	809	FIRE HYDRANT	10	EA	\$4,000.00	\$40,000.00	\$34,292.60	\$27,000.00
130	130	810*	6 INCH HYDRANT EXTENSION	2	EA	\$250.00	\$500.00	\$560.00	\$1,800.00
131	131	810*	12 INCH HYDRANT EXTENSION	2	EA	\$300.00	\$600.00	\$600.00	\$2,000.00
132	132	810*	18 INCH HYDRANT EXTENSION	2	EA	\$350.00	\$700.00	\$700.00	\$2,200.00
133	133	810*	24 INCH HYDRANT EXTENSION	2	EA	\$400.00	\$800.00	\$780.00	\$2,600.00
134	134		INCREASE OR DECREASE IN EXCAVATION AND BACKFILL	57	CY	\$40.00	\$2,280.00		\$4,275.00
135	135	SPEC	SURVEY COORDINATES	1	LS	\$5,000.00	\$5,000.00	. ,	\$7,000.00
136	136	SPEC	TEMPORARY SEEDING AND MULCHING	639	SY	\$3.00	\$1,917.00	\$900.99	\$1,278.00
			3/4 INCH WATER HOT TAP AND WATER SERVICE LINE						
137	137	SPEC	TRANSFERS, SHORT	3	EA	\$2,000.00	\$6,000.00	\$8,232.33	\$11,700.00
138	138	SPEC	HEAT WELD	4	SY	\$30.00	\$120.00	\$297.28	\$360.00
139	139		PERMANENT PAVEMENT	245	CY	\$400.00	\$98,000.00	\$174,395.90	\$172,725.00
140	140	SPEC	VIDEO INSPECTION OF SEWERS	700	LF	\$5.00	\$3,500.00	\$3,248.00	\$3,150.00
			CONTINGENCY - Special - Force Account (.10 x Sum of Items 95						
141	141	CONT	through 129)	1	LS	\$95,533.20	\$95,533.20	\$111,160.80	\$137,047.15
						DOW	\$1,050,865.20	\$1,222,768.81	\$1,507,518.65
						Total	\$4.261.286.45	\$3,986,241.48	\$4.487.352.00
						rotai	Ψ4,201,200.13	\$3,900,241.40	Ψ4,401,303.90

Order	Ref.					Total Unit			
No.		Item No.	Description	Est. Qty's	Unito	Price	Total	O	0
NO.	NO.	item No.	Description	ESI. QIY S	Units	Frice	TOTAL	Sunesis	Conie
CC-1764	l6 Bluep	rint Linde	n Oakland Park/ Medina Green Infrastructure CIP NO. 650870-						
100702									
1	1	201	CLEARING & GRUBBING	1	LS	\$20,000.00	\$20,000.00	\$6,210.19	\$11,500.00
2	2	201	TREE REMOVED	41	EA	\$150.00	\$6,150.00	\$9,840.00	\$12,710.00
3	3		PIPE REMOVED	448	LF	\$15.00	\$6,720.00	\$12,992.00	\$8,960.00
4	4	202	CURB REMOVED	725	LF	\$15.00	\$10,875.00	\$11,962.50	\$14,500.00
5	5		PERIMETER FILTER FABRIC FENCE (SILT FENCE)	3978	LF	\$3.00	\$11,934.00	\$7,956.00	\$7,956.00
6	6	254	PAVEMENT PLANING, ASPHALT CONCRETE	2006	SY	\$15.00	\$30,090.00	\$12,437.20	\$10,531.50
7	7		DRIVEWAY PAVEMENT REPLACEMENT, TYPE III B (ASPHALT)	1	CY	\$600.00	\$600.00	\$743.50	\$1,600.00
			DRIVEWAY PAVEMENT REPLACEMENT, TYPE III B						
8	8	259	(CONCRETE)	16	CY	\$600.00	\$9,600.00	\$12,064.00	\$16,000.00
9	9	259	DRIVEWAY PAVEMENT REPLACEMENT, TYPE III C (GRAVEL)	4	CY	\$300.00	\$1,200.00	\$664.00	\$1,000.00
10	10	407	NON-TRACKING TACK COAT	301	GAL	\$9.50	\$2,859.50	\$1,384.60	\$1,354.50
			ASPHALT CONCRETE INTERMEDIATE COURSE, TYPE 1, (448)						
11	11		PG64-22M	1	CY	\$400.00	\$400.00	\$118.01	\$535.50
			ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (448) PG64-						
12	12		22M	84	CY	\$400.00	\$33,600.00	\$19,437.60	\$20,160.00
13	13		HEADWALL	6	CY	\$600.00	\$3,600.00	\$14,227.50	\$9,000.00
14	14		STANDARD MANHOLE, TYPE "C" (AA-S102)	8	EA	\$4,000.00	\$32,000.00	\$39,840.00	\$18,400.00
			STANDARD MANHOLE, TYPE "C" (AA-S102) WITH GRATED						
15	15		COVER	1	EA	\$4,000.00	\$4,000.00	\$5,225.00	\$2,300.00
16	16		CURB INLET	10	EA	\$3,000.00	\$30,000.00	\$41,410.00	\$23,000.00
17	17		STANDARD CATCH BASIN (AA-S133A)	8	EA	\$3,500.00	\$28,000.00	\$19,280.00	\$12,800.00
18	18	605	8" PIPE UNDERDRAIN, SOLID WALL	255	LF	\$40.00	\$10,200.00	\$9,792.00	\$21,675.00
19	19		12" PIPE UNDERDRAIN, SOLID WALL	892	LF	\$60.00	\$53,520.00	\$45,848.80	\$62,440.00
20	20		CONCRETE WALK (4')	2040	SF	\$20.00	\$40,800.00	\$25,500.00	\$28,560.00
21	21		CURB RAMP, TYPE C	1	EA	\$500.00	\$500.00	\$586.50	\$525.00
22	22		CURB RAMP, TYPE D	3	EA	\$500.00	\$1,500.00	\$1,759.50	\$1,575.00
23	23		DETECTABLE WARNING TYPE "E"	32	SF	\$450.00	\$14,400.00	\$1,440.00	\$992.00
24	24		CURB, STRAIGHT 18"	381	LF	\$30.00	\$11,430.00	\$20,574.00	\$22,860.00
25	25		MAINTAINING TRAFFIC	1	LS	\$75,000.00	\$75,000.00	\$48,150.00	\$32,000.00
26	26		TEMPORARY PAVEMENT	3	SY	\$200.00	\$600.00		\$750.00
27	27		CONSTRUCTION LAYOUT STAKES	1	LS	\$15,000.00	\$15,000.00	\$24,150.00	\$37,500.00
28	28		MOBILIZATION	1	LS	\$30,000.00	\$30,000.00	\$110,626.44	\$60,000.00
29	29		SIGN REPLACEMENT	3	EA	\$300.00	\$900.00	\$1,131.00	\$1,200.00
30	30		TOPSOIL FURNISHED AND PLACED	3576	CY	\$50.00	\$178,800.00	\$189,528.00	\$107,280.00
31	31		SEEDING AND MULCHING	450	SY	\$10.00	\$4,500.00	\$4,500.00	\$4,500.00
32	32	660	SODDING UNSTAKED	1,597	SY	\$20.00	\$31,940.00	\$24,753.50	\$15,970.00
	_					_			
33	33		TREE OR SHRUB REPLACEMENT, MATCH EXISTING SPECIES	41	EA	\$500.00	\$20,500.00	\$20,838.25	\$25,625.00
34	34		3/4 INCH WATER SERVICE LINE TRANSFER	31	EA	\$2,000.00	\$62,000.00	\$84,118.50	\$93,000.00
35	35		CURB BOX	31	EA	\$250.00	\$7,750.00	\$7,998.00	\$3,410.00
36	36		RELOCATE 8 INCH WATER MAIN	70	LF	\$200.00	\$14,000.00	\$25,410.00	\$45,500.00
37	37		6 INCH WATER MAIN LOWERING	2	EA	\$4,400.00	\$8,800.00	\$15,100.00	\$29,000.00
38	38	808	8 INCH WATER MAIN LOWERING	2	EA	\$5,000.00	\$10,000.00	\$24,350.00	\$30,000.00

				1	1	Liiginieei s	T	1	1
Order	Ref.	_				Total Unit			
No.	No.	Item No.	Description	Est. Qty's	Units	Price	Total	Sunesis	Conie
39	39	815	CRUSHED STONE OR GRAVEL	10	CY	\$50.00	\$500.00	\$1,900.00	\$1,600.00
			12" PIPE, TYPE I BEDDING, WITH ITEM 911 COMPACTED						
40	40	901	BACKFILL	14	LF	\$90.00	\$1,260.00	\$2,256.10	\$2,240.00
			12" PIPE, TYPE I BEDDING, WITH ITEM 912 COMPACTED						
41	41	901	GRANULAR BACKFILL	2,819	LF	\$120.00	\$338,280.00	\$316,855.60	\$465,135.00
42	42		6" CLEANOUT	43	EA	\$1,000.00	\$43,000.00	\$9,245.00	\$30,100.00
43	43		ROOF DRAIN CONNECTION	13	EA	\$500.00	\$6,500.00	\$5,213.00	\$3,705.00
			30 MIL PVC OR 40 MIL HDPE IMPERMEABLE MEMBRANE						
44	44		LINER TYPE D	5,364	SY	\$4.00	\$21,456.00	\$211,341.60	\$53,640.00
45	45		SEDIMENT AND EROSION CONTROLS	1	LS	\$25,000.00	\$25,000.00	\$24,260.00	\$10,000.00
46	46		SURVEY COORDINATES	1	LS	\$10,000.00	\$10,000.00	\$805.00	\$1,000.00
47	47		PROJECT IDENTIFICATION SIGNS	1	LS	\$1,600.00	\$1,600.00	\$3,421.00	\$3,500.00
48	48		ELECTRIC LINE RELOCATION	5	EA	\$5,000.00	\$25,000.00	\$47,900.00	\$31,500.00
49	49		ELECTRIC POLE RELOCATION	3	EA	\$5,000.00	\$15,000.00	\$15,996.00	\$2,550.00
50	50		BIO-BASIN PROTECTION FENCING	3,050	LF	\$6.00	\$18,300.00	\$10,675.00	\$21,350.00
51	51		12" C900 SANITARY GRADE SEWER PIPE	99	LF	\$120.00	\$11,880.00	\$13,662.00	\$18,315.00
52	52		SIDEWALK WITH INTEGRATED RETAINING WALL	40	LF	\$200.00	\$8,000.00	\$16,040.00	\$11,000.00
53	53		REBOUNDABLE PYLONS	28	EA	\$150.00	\$4,200.00	\$10,836.00	\$11,200.00
54	54		BUMPOUT CURB	544	LF	\$200.00	\$108,800.00	\$50,048.00	\$65,280.00
55	55		BUMPOUT WALLS	526	SF	\$30.00	\$15,780.00	\$65,750.00	\$65,750.00
56	56		SILVA CELL	45	CY	\$300.00	\$13,500.00	\$25,200.00	\$18,000.00
57	57		TEMPORARY SEEDING AND MULCHING	450	SY	\$3.00	\$1,350.00	\$1,800.00	\$4,500.00
58	58		CURB INLET REMOVED	13	EA	\$1,000.00	\$13,000.00	\$6,045.00	\$19,500.00
59	59		DOGHOUSE MANHOLE	12	EA	\$4,500.00	\$54,000.00	\$82,584.00	\$138,000.00
60	60		GI OUTLET STRUCTURE	41	EA	\$1,000.00	\$41,000.00	\$120,868.00	\$102,500.00
61	61		BIORETENTION MULCH	16,634	CF	\$10.00	\$166,340.00	\$66,537.36	\$24,951.51
62	62		BIORETENTION SOIL	30,931	CF	\$10.00	\$309,310.00	\$105,163.87	\$123,722.20
63	63		EXCAVATION FOR GREEN INFRASTRUCTURE FACILITIES	2,843	CY	\$20.00	\$56,860.00	\$137,885.50	\$127,935.00
64	64		GREEN INFRASTRUTURE AGGREATE, TYPE 57	339	CY	\$100.00	\$33,900.00	\$30,171.00	\$35,595.00
65	65		GREEN INFRASTRUTURE AGGREATE, TYPE 8	169	CY	\$100.00	\$16,900.00	\$20,618.00	\$17,745.00
66	66		GREEN INFRASTRUTURE AGGREATE, TYPE 304	88	CY	\$100.00	\$8,800.00	\$8,800.00	\$11,440.00
67	67		BIO BASIN INLET	500	SF	\$50.00	\$25,000.00	\$12,000.00	\$15,000.00
CO	00		GREEN INFRASTRUTURE PERIOD OF ESTABLISHMENT			\$20,000,00	#20,000,00	\$205.004.00	\$40,000,00
68	68		SEASON 2	1 504	LS LF	\$20,000.00	\$20,000.00	\$285,964.00 \$20,908.80	\$42,000.00
69 70	69		8" PIPE UNDERDRAIN FOR GREEN INFRASTRUCTURE CURB INLET REHABILITATION	1,584 8		\$50.00 \$5,000.00	\$79,200.00	. ,	\$95,040.00
70 71	70 71		LANDSCAPING WALL		EA LF	\$200.00	\$40,000.00 \$337,600.00	\$18,160.00 \$229,568.00	\$60,000.00 \$236,320.00
71	71		PERMANENT PAVEMENT	1,688 170	CY	\$400.00	\$68,000.00	\$109,735.00	\$102,000.00
73	73		HEAT WELDING	368	SY	\$15.00	\$5,520.00	\$19,504.00	\$20,240.00
74	74		LIGHT POLE REPLACED	1	EA	\$5,000.00	\$5,000.00	\$11,608.00	\$8,000.00
74 75	75		GRASSES - SHADE - CP	19	EA	\$30.00	\$5,000.00	\$1,878.53	\$779.00
75 76	75 76		GRASSES - SHADE - CV	170	EA	\$30.00	\$5,100.00	\$16,807.90	\$6,970.00
77	77		GRASSES - SHADE - CV GRASSES - SUN - PH	281	EA	\$30.00	\$8,430.00	\$26,478.63	\$11,521.00
77 78	78		GRASSES - SUN - PH	127	EA	\$30.00	\$3,810.00	\$11,720.83	\$5,207.00
76 79	76 79		GRASSES - SUN - FV	194	EA	\$30.00	\$5,820.00	\$18,804.42	\$5,207.00 \$5,432.00
80	80		PERENNIALS - SUN - AB	121	EA	\$30.00	\$3,620.00	\$12,041.92	\$3,993.00
81	81		PERENNIALS - SUN - AU	145	EA	\$30.00	\$4,350.00	\$14,710.25	\$4,785.00
ΟI	ΟI	SFEU	F LIVEININIALO - JUIN - AU	140	LEA	გა ს.სს	φ4,330.00	φ14,/ IU.Z3	φ4,7 ου.00

Enc	inaa	,'a E	stimate	
	mee	rse	Stilliate	,

Order	Ref.					Total Unit			
No.	No.	Item No.	Description	Est. Qty's	Units	Price	Total	Sunesis	Conie
82	82	SPEC	PERENNIALS - SUN - ED	150	EA	\$30.00	\$4,500.00	\$14,830.50	\$4,650.00
83	83	SPEC	PERENNIALS - SUN - EK	202	EΑ	\$30.00	\$6,060.00	\$19,971.74	\$6,060.00
84	84	SPEC	PERENNIALS - SUN - EP	210	EA	\$30.00	\$6,300.00	\$20,762.70	\$6,300.00
85	85	SPEC	PERENNIALS - SUN - EW	145	EA	\$30.00	\$4,350.00	\$14,336.15	\$4,350.00
86	86	SPEC	PERENNIALS - SUN - IR	128	EA	\$30.00	\$3,840.00	\$12,655.36	\$4,096.00
87	87	SPEC	PERENNIALS - SUN - PP	27	EA	\$30.00	\$810.00	\$2,687.04	\$1,107.00
88	88	SPEC	PERENNIALS - SUN - PS	39	EA	\$30.00	\$1,170.00	\$3,881.28	\$1,599.00
89	89	SPEC	PERENNIALS - SUN - PT	142	EA	\$30.00	\$4,260.00	\$14,039.54	\$5,254.00
90	90	SPEC	PERENNIALS - SUN - RS	194	EΑ	\$30.00	\$5,820.00	\$19,180.78	\$5,626.00
91	91	SPEC	PERENNIALS - SUN - SE	85	EΑ	\$30.00	\$2,550.00	\$8,403.95	\$3,485.00
92	92	SPEC	PERENNIALS - SUN - SN	121	EA	\$30.00	\$3,630.00	\$11,963.27	\$3,509.00
93	93	SPEC	SHRUBS - SUN - HF	72	EA	\$100.00	\$7,200.00	\$9,358.56	\$7,200.00
94	94	SPEC	SHRUBS - SUN - AM	46	EA	\$100.00	\$4,600.00	\$5,622.58	\$4,784.00
95	95	SPEC	SHRUBS - SUN - CA	88	EA	\$100.00	\$8,800.00	\$10,756.24	\$6,424.00
96	96	SPEC	SHRUBS - SUN - CK	44	EA	\$100.00	\$4,400.00	\$5,335.44	\$3,212.00
97	97	SPEC	SHRUBS - SUN - IJ	19	EA	\$100.00	\$1,900.00	\$2,224.52	\$1,558.00
98	98	SPEC	SHRUBS - SUN - IL	41	EA	\$100.00	\$4,100.00	\$4,905.65	\$3,362.00
99	99	SPEC	SHRUBS - SUN - IW	75	EA	\$100.00	\$7,500.00	\$8,973.75	\$6,150.00
100	100	SPEC	SHRUBS - SUN - RG	13	EA	\$100.00	\$1,300.00	\$1,584.83	\$1,001.00
101	101	SPEC	SHRUBS - SUN - VN	36	EA	\$100.00	\$3,600.00	\$4,423.68	\$2,808.00
102	102	SPEC	SHRUBS - EVERGREEN - JV	28	EA	\$100.00	\$2,800.00	\$3,278.24	\$2,044.00
103	103	SS-1604	EDGING, STEEL	692	LF	\$30.00	\$20,760.00	\$8,573.88	\$8,996.00
104	104	SPEC	TREES - AR	4	EA	\$750.00	\$3,000.00	\$1,900.28	\$2,600.00
			CONTINGENCY - Special - Force Account (.10 x Sum of Items 1						
105	105	CONT	through 93)	1	LS	\$291,856.45	\$291,856.45	\$333,570.99	\$293,188.52
						DOSD	\$3,210,420.95	\$3,669,280.85	\$3,225,073.73
CC-1746	346 Blue	print Linde	en Oakland Park/ Medina Water Line CIP NO. 690236-100117						
106	106		MAHNOLE REMOVED	1	EA	\$1,000.00	\$1,000.00	\$960.00	\$750.00
107	107		PAVEMENT PLANING, ASPHALT CONCRETE	5665	SY	\$10.00	\$56,650.00	\$20,394.00	\$29,741.25
107	107	201	DRIVEWAY PAVEMENT REPLACEMENT, TYPE III B	0000	<u> </u>	Ψ10.00	ψου,οσο.οσ	φ20,001.00	Ψ20,7 11.20
108	108	259	(CONCRETE)	2	CY	\$600.00	\$1,200.00	\$1,688.00	\$2,000.00
					_	***************************************	+ /	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	+ /
109	109	259	DRIVEWAY PAVEMENT REPLACEMENT, TYPE III C (GRAVEL)	1	CY	\$300.00	\$300.00	\$406.00	\$250.00
110	110		NON-TRACKING TACK COAT	850	GAL	\$9.50	\$8,075.00	\$3,910.00	\$3,825.00
			ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (448) PG64-			·	+ - /	+ = / = = = =	+-,
111	111	441	22M	236	CY	\$400.00	\$94,400.00	\$54,610.40	\$56,640.00
112	112		CONCRETE WALK (4')	896	SF	\$20.00	\$17,920.00	\$10,752.00	\$15,232.00
113	113		TEMPORARY PAVEMENT	3	SY	\$200.00	\$600.00	\$1,243.50	\$750.00
114	114		MOBILIZATION	1	LS	\$30,000.00	\$30,000.00	\$83,578.34	\$20,000.00
115	115		SIGN REPLACEMENT	1	EA	\$300.00	\$300.00	\$377.00	\$400.00
116	116		SEEDING AND MULCHING	639	SY	\$10.00	\$6,390.00	\$4,664.70	\$9,585.00
117	117		6 INCH WATER PIPE AND FITTINGS	493	LF	\$100.00	\$49,300.00	\$98,600.00	\$76,415.00
118	118		8 INCH WATER PIPE AND FITTINGS	2814	LF	\$120.00	\$337,680.00	\$496,671.00	\$492,450.00
		551				ψ.20.00	+ + + + + + + + + + + + + + + + + + + 	\$.55,57 1100	Ţ.5 <u>2, 155.00</u>
119	119	801*	CONCRETE BLOCKING CLASS C, INCREASE OR DECREASE	20	CY	\$200.00	\$4,000.00	\$4,200.00	\$2,500.00
1 118									

Order	Ref.					Total Unit			
No.	No.	Item No.	Description	Est. Qty's	Units	Price	Total	Sunesis	Conie
121	121	802	6 INCH VALVE AND APPURTENANCES	13	EΑ	\$800.00	\$10,400.00	\$32,552.00	\$19,500.00
122	122	802	8 INCH VALVE AND APPURTENANCES	5	ΕA	\$1,000.00	\$5,000.00	\$16,230.00	\$10,000.00
			3/4 INCH WATER TAP AND WATER SERVICE LINE			. ,		. ,	. ,
123	123	805	TRANSFERS, SHORT	51	EA	\$1,250.00	\$63,750.00	\$114,189.00	\$76,500.00
			3/4 INCH WATER TAP AND WATER SERVICE LINE						
124	124	805	TRANSFERS, LONG	54	EA	\$1,400.00	\$75,600.00	\$224,883.00	\$108,000.00
125	125	805*	CURB BOX	108	EA	\$200.00	\$21,600.00	\$27,864.00	\$12,420.00
126	126	805*	C.I. FERRULE VALVE BOX AND COVER	4	EA	\$300.00	\$1,200.00	\$3,932.00	\$220.00
127	127	808	8 INCH WATER MAIN ABANDONED	2	EA	\$500.00	\$1,000.00	\$5,600.00	\$8,000.00
128	128	808	1.5 INCH WATER MAIN ABANDONED	1	EΑ	\$300.00	\$300.00	\$2,735.00	\$3,000.00
129	129	809	FIRE HYDRANT	10	EA	\$4,000.00	\$40,000.00	\$33,000.00	\$40,000.00
130	130	810*	6 INCH HYDRANT EXTENSION	2	EA	\$250.00	\$500.00	\$2,116.00	\$450.00
131	131	810*	12 INCH HYDRANT EXTENSION	2	EA	\$300.00	\$600.00	\$2,248.00	\$530.00
132	132	810*	18 INCH HYDRANT EXTENSION	2	EA	\$350.00	\$700.00	\$1,462.00	\$560.00
133	133	810*	24 INCH HYDRANT EXTENSION	2	EΑ	\$400.00	\$800.00	\$2,400.00	\$620.00
134	134	811*	INCREASE OR DECREASE IN EXCAVATION AND BACKFILL	57	CY	\$40.00	\$2,280.00	\$4,446.00	\$2,850.00
135	135	SPEC	SURVEY COORDINATES	1	LS	\$5,000.00	\$5,000.00	\$6,035.00	\$7,500.00
136	136	SPEC	TEMPORARY SEEDING AND MULCHING	639	SY	\$3.00	\$1,917.00	\$2,556.00	\$6,390.00
			3/4 INCH WATER HOT TAP AND WATER SERVICE LINE						
137	137	SPEC	TRANSFERS, SHORT	3	EA	\$2,000.00	\$6,000.00		\$15,000.00
138	138		HEAT WELD	4	SY	\$30.00	\$120.00	\$211.20	\$220.00
139	139		PERMANENT PAVEMENT	245	CY	\$400.00	\$98,000.00		\$85,750.00
140	140		VIDEO INSPECTION OF SEWERS	700	LF	\$5.00	\$3,500.00	\$5,950.00	\$2,100.00
			CONTINGENCY - Special - Force Account (.10 x Sum of Items 95						
141	141	CONT	through 129)	1	LS	\$95,533.20	\$95,533.20	\$143,607.71	\$111,079.58
						DOW	\$1.050.865.20	\$1,579,684.85	\$1,221,875.33
							Ţ 1,000,00 3120	Ţ 2,01 0,00 11 00	+ 1,== 1,51 0100
						Total	\$4,261,286.15	\$5,248,965.70	\$4,446,949.06